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o2 1Yo A AABC = AB
BD =BC 2 o, /x ¢ 37]

@ 44° @ 46° ®

@36c @ 40°

30°

tZtgoln=g /A = /ABD = 36°

AABD £ o]5H47Z

/BDC = 36° 4 36° = 72°
ABDC = o]5HAZgo| B & /BDC = /BCD = 72°

" Lx = 180° — 72° = 72° = 36°
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BD & /B 9 oSS FHT ), o] S5 %5 247

A
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@D SSS &= @ SAS 3= 3 ASA 3=
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/A = /E = 90°
AD = ED
BD = 3%

AABD = AEBD (RHS &%)
.. Z/ABD = /DBE




4. & a4 H 0= AABC Q] €A olt}. /0OAB = 10°, ZOBC =
30°, LOAC 9] A7]=?

@® 40° @ 45° @50° @ 55° ® 60°

/OAB = /OBA, /0OBC = /OCB, /OAC = /OCA°|2 &
/OAB + /OBC + £OCA =90°
.. LOAC = /OCA =90°-40°=50°




@® 40° @ 42° ® 45° @ 48° (3)50°
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(CPH&} /APD = & 2| Zbo| B2

/CPH = /APD = 50°

ojej, ACPHOA /PCH = 40°

T, AABCE AB = AC? o] 5HdZgo|m 2
/ABC = 40°

ABHD 9] A Wjz+9] g2 180°0]B=
Lx+40° +90° = 180°

S /Zx=150°




